Compact NS/NSX100-250
FPower NSX / GV7

Busbar plate
Platine jeu de barres
Platina de juego de barras

IMPORTANT NOTE

m This device must be installed by a
qualified electrician.

m We cannot accept any responsibility
for failure to follow the instructions
provided in this document.

Schneider

S1A4386101-03

Schneider Electric Industries SAS
35, rue Joseph Monier

CS 30323

F - 92506 Rueil Malmaison Cedex

www.schneider-electric.com

&
© 2011 Schneider Electric.
All rights reserved.

RISK OF ELECTROCUTION, BURNS
OR EXPLOSION

m Disconnect all power supplies to

this device before performing any
procedure on or in the equipment.

m Always use an appropriate voltage
detector to verify that there is no voltage
present.

m Replace all components, doors and
covers before powering up the device.

Failure to follow these instructions will
result in death or serious injury.

REMARQUE IMPORTANTE

m L'installation de cet appareil

doit étre effectuée par des
professionnels de I'électricité.

m Le non-respect des indications de la
présente notice ne saurait engager

la responsabilité du constructeur.

OBSERVACION IMPORTANTE

m La instalacion y mantenimiento de
este aparato sélo debe ser realizado
por electricistas profesionales.

m El fabricante no se hace responsable
en caso de no cumplir con las
indicaciones expuestas en este aviso.

REEEFN
Y A TR %
AR AT R ASC R
RSB T

4P

3P x3
4P x4

3P (M8 x 35) x3 | p
4P (M8 x 35) x4 (({(((((f((((@

O
4

5/32

@
/
3

-
-
\\
N v
O
w
c’o

w
o

!

-
N

-4

SEninin
i
52t

W
e

-
Qo X
X =

|- 4P

30 x 10 max.
1.18 x 0.39 max.

Waiting position
Position d’attente
Posicion de espera

100-250 A

3P/4P

A DANGER / DANGER / PELIGRO / f&B&:

RISQUE D’ELECTROCUTION, DE
BRULURES OU D’EXPLOSION

m Coupez toutes les alimentations

de cet appareil avant toute intervention

sur ou dans 'appareil.

m Utilisez toujours un dispositif de détection
de tension approprié pour confirmer
I'absence de tension.

m Replacez tous les dispositifs, les portes
et les couvercles avant de mettre cet
appareil sous tension.

Le non-respect de ces instructions
provoquera la mort ou des blessures
graves.

RIESGO DE ELECTROCUCION,
QUEMADURAS O EXPLOSION

m Antes de realizar cualquier intervencion
interior o exterior del aparato se debe cortar
la alimentacion.

m Utilice siempre un dispositivo de
deteccion de tension adecuado para
confirmar la ausencia de tension.

m Vuelva a colocar todos los dispositivos,
puertas y tapas antes de someter el
aparato a tension.

Si no se siguen estas instrucciones
provocara lesiones graves o incluso
la muerte.

RES B KR

w (R b A AT AT N
W T AR (1 BT AT LI

i 5 A I I LT AG T 2
CAFFAERE

w AR BTl R 2T

TR O T2 B ) FL
MRRETIXERE, BESHTT
HEEGE.

8 N.m
70 Ib-in

'

3P/4P

.

i

R 77&; ® ENm
: 6 x4\ 22 b-in
ol — M5 x 70

15 N.m
130 Ib-in

1,2 N.m
| @/b-in

N\

12Nm | [3p Lvazesis
4P LV429516

S1A4386101-03

Released 1or Manuracturing

Printed on 2014/04/08

1/2



Compact NS/NSX400-630

FPower NSX/ GV7 IMPORTANT NOTE P Waiting position rl
e ,
m This device must be installed by a POS!tl_O’n d’attente I\(
Busbar plate qualified electrician. Posicion de espera L

Platine jeu de barres

| ) m We cannot accept any responsibility
Platina de juego de barras

for failure to follow the instructions
provided in this document.

REMARQUE IMPORTANTE

m L'installation de cet appareil

doit étre effectuée par des
professionnels de I'électricité.

m Le non-respect des indications de la
présente notice ne saurait engager

la responsabilité du constructeur.

3P (M10 x 55) x3
4P (M10 x 55) x3 + (M10 x 40) x1 %

OR/OU/O

S1A4386101-03

OBSERVACION IMPORTANTE

m La instalacion y mantenimiento de
este aparato solo debe ser realizado
por electricistas profesionales.

m El fabricante no se hace responsable
en caso de no cumplir con las
indicaciones expuestas en este aviso.

Schneider Electric Industries SAS
35, rue Joseph Monier

CS 30323

F - 92506 Rueil Malmaison Cedex

|- 4P

EEEREN

W ORGEE A S I T REAT e

W IR ATAS AR AT PR AR A SRS
KR R T 2 BN ST

www.schneider-electric.com

mm
0 “n |L1/L2r3| N

33,7 25,2

~QO | 13 0.99

% M10 x 55 |M10 x 40

&
© 2011 Schneider Electric.
All rights reserved.

30 x 10 max.
1.18 x 0.39 max.

A DANGER / DANGER / PELIGRO / f&f%

RISK OF ELECTROCUTION, BURNS
OR EXPLOSION

m Disconnect all power supplies to

this device before performing any
procedure on or in the equipment.

m Always use an appropriate voltage
detector to verify that there is no voltage
present.

m Replace all components, doors and
covers before powering up the device.

Failure to follow these instructions will
result in death or serious injury.

RISQUE D’ELECTROCUTION, DE
BRULURES OU D’EXPLOSION

m Coupez toutes les alimentations

de cet appareil avant toute intervention

sur ou dans l'appareil.

m Utilisez toujours un dispositif de détection
de tension approprié pour confirmer
I'absence de tension.

m Replacez tous les dispositifs, les portes
et les couvercles avant de mettre cet
appareil sous tension.

Le non-respect de ces instructions
provoquera la mort ou des blessures
graves.

RIESGO DE ELECTROCUCION,
QUEMADURAS O EXPLOSION

m Antes de realizar cualquier intervencion
interior o exterior del aparato se debe cortar
la alimentacion.

m Utilice siempre un dispositivo de
deteccion de tension adecuado para
confirmar la ausencia de tension.

m Vuelva a colocar todos los dispositivos,
puertas y tapas antes de someter el
aparato a tension.

Si no se siguen estas instrucciones
provocara lesiones graves o incluso
la muerte.

WRES B . K EURLE

L Ria S e RN S ARER . S (H NN
W TF A2 B 1R AT ML

55 P T I HLT R T 25 0
CAFAERIR.

W AL B Tl R e 2
VA ERIT T2 B A O
MRRBETFXLRR, BRESRET
HEEGE.

2,5N.m
22 Ib-in

3P/4P

\

h

1,2 N.m
10.5 Ib-in

7.0

O
12 N.m
105 Ib-in
9x4

25 Nm amsxss — Mandatory U 2 500 V
22 Ib-in 3P Lv432591 | Qpligatoire U = 500 V
4P _LV432592 | QObligatorio U = 500 V

Released 1or Manuracturing

S1A4386101-03 Printed on 2014/04/08 212




